fox

1t

7°10"

62
R

/v

80

61

70
RHF

79
s

Rl | RILEESEE

60

69
BKF

78
SR

10

_
“_un_
il

1t

WM = nﬂm a.——M\A

,
——1]
_,', -

|

=/

- ST
— .

\Q X\\
Y

e —
1=3

=

63.77

= =2

e WS

mm e —— e e

WA R

[

i

4444 X3
029.9°0-0-0.0.!
Ei¥odet2edeted
s
.VQQQOQQ‘»OQQA
[ XX
1RIXER

QR

%
[

3 von
[l 0%

K

QIR
Dodotess:

dotosetor!
RLRKS

|
/

o_LIM o0 o’ a _9_on_ o 000 omn

3w W 9@ 3 7 b,

0708707567076 oI

=SS ——Fm S e__w--_-———s-s5 .’

=T o

I e

o oT T

o

M

R
8IS
_.

i @smyrm

RN

%
R

RRERRS
BSKK,
RIISKKX
(9262055

s XRTS%
s

RRSRIKERRERIIZZ | 1
< RN

Yoo |
T |
SR

A
<]

.
XA
DS
ot
XX

%A
%%

X
%
%

f—fé‘

DR

o ____

PEX x>

KSR IR XS
PSRN
== —KXKEKIY

A 5 K
0%
BRI

X
9.0 S

O
S

QS
SSEIKSIK

S
R

LT

<

62.0 py )= ®EHHS

g

/5

eEﬁé&d&&%ﬁ
RSORRIRRRRNKN
RIBARKRARRA
siexs2esecnietntess

- - 2

K X XXX XXX XXX
w&%ﬂ&b&&&@%

N a

s RAET

RS K
35

e
3

%
%

%%
5
S
X
28

AR
o2
S
KK XA

K
<

S

o
0‘0‘0‘0‘0
1900 %%
00004
(X K2
KB
RXRXK

K
X

2

20

X

XX
S5
2
S
2ot

bl

RPLIRRR

Q

RRRX KRR XK
#&%&&
I Sene
RXXX

R

e
2

%
L

<

2%

2
Zs
2

%
o2

(XX

o St |

T

(CTC

SRR
XK XXXI]
BRI

8_ 0 _9__0o__0_0_

S EL

X

X

RL&l
&L

&
%

%
K

%
XA KX XD 0%

i
R
de3e%s
055
XX

oY%
5

X
%!
05

i\

(55
///‘

XX
K%
&
oo
120% %%

o
X
RS
iotoe
KRS
3

N 5
SeSozoseTele?
bt

3 3
RRRS~ CRRXX)
00070700 % %% %%
s

TR
AV o =

b

IR
KRR
RIS
RIKLIXK]
ROZRRRRA]
QXKL
loSetetetetatl

B i A .

. TR
®

#
s v ®

[RR IR KK KT AR
””””"0’0’:’

”
T —
BRI RRRIK]
Potetotatetototety!
BSIKIKKY]
ERRRRRRRN
XA

QR
CXXKA
R RERKKKY:
99096999 %%
] o
o)

R~
X2 /
K
KRS

<
K

Q
LR

QR
‘0
%S

o

ERRRXY 0
LXK | -
=Y (16

R

RRRRRZ
QXS
PBRIRYS &W&&m
> KRR RRRRXX]
QRIK KK RXKIIRKIKNS
g D

<]

R RIIRS
é%%g%%o

YoY%
X8
KRR

&
o3,
%%

1930 %%%
RS

L.0.9,

totetetetedededs:

(%%

A

0000“

0 ..:ﬁ
J
S RRRRRRKS

DoeRetete%e %%

b
9%

X5

QRS
2SS

pSe%%

X
K>
ol

BOOXXNA

1]

PRRRIR R
H&.“.“.“.“.“. :
2 9.9.9.9%%!) <

= XX

X R SSS = —
QIR [Si=—.
XRRRRRRT

0.0,
000000202000
0. 0.0.0.0.0.0.,
s
500,999,090

‘ .
11[RRKK

. XK
RS

-

—T

1:2,500

%

%%

o
o

<
2
)

P
&

%
booe

%%

XX XX

!

SRS

RORRKS
PoSeode!
SRR

o
RS
Dododesote
ISRRISAEERARS
BI4H0
RS
3885
SKRES
R

P
%

<
9.

R
%

>
B
8
K
XX

IR OToto
RX% S
otesee

%

o

0

%

4]

NENREE
ERiRivE

3

500 m

400

300

200




